BUDGET RESOLUTION 2021/22

Appendix K i)

DIRECTORATE	GROSS EXP	GROSS INC	NET EXP
	£	£	£
PEOPLE	211,671,004	126,137,680	85,533,324
PLACE	50,396,410	17,726,410	32,670,000
RESOURCES	66,571,780	52,958,780	13,613,000
CAPITAL FINANCING	12,032,680	507,680	11,525,000
MOVEMENT IN BALANCES	0	0	-4,230,336
		-	, ,
TOTALS FOR WEST BERKSHIRE COUNCIL (SUB TOTAL A)	340,671,874	197,330,550	139,110,988
FUNDED BY:			
TOTAL CTX FUNDING REQUIRED FOR WEST BERKSHIRE COUNCIL			104,315,255
Other non ring-fenced grants, Collection Fund and reserves total (detailed in the main report)			34,795,733
Total funding			139,110,988
PARISHES	0	0	4,493,586
TOTALS FOR PARISHES (SUB TOTAL B)	0	0	4,493,586

Appendix K ii)

١	10	luoti	an D	ands
٠,	<i>//</i> ~	шап	ON -	anos

West Berkshire Council

Α	В	С	D	E	F	G	Н
£973.50	£1,135.75	£1,298.00	£1,460.25	£1,784.75	£2,109.25	£2,433.75	£2,920.50

Adult Social Care

Α	В	C	D	E	F	G	Н
£90.77	£105.90	£121.03	£136.16	£166.42	£196.68	£226.93	£272.32

Police and Crime Commisioner for Thames Valley

Α	В	С	D	Е	F	G	Н
£154.19	£179.88	£205.58	£231.28	£282.68	£334.07	£385.47	£462.56

Royal Berkshire Fire And Rescue Service

	Α	В	С	D	Е	F	G	Η
ſ	£45.97	£53.63	£61.29	£68.95	£84.27	£99.59	£114.92	£137.90

Aggregate Of Council Tax Requirements

Α	В	С	D	Е	F	G	Н
£1,264.43	£1,475.16	£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28

								i)	
Council Tax schedule 2021-22		Band A £	BandB £	Band C £	Band D £	Band E £	Band F £	Band G £	Band H £
West Berkshire Council Precepts									
West Berkshire Council		£973.50	£1,135.75	£1,298.00	£1,460.25	£1,784.75	£2,109.25	£2,433.75	£2,920.50
West Berkshire Council Adult Social Care		£90.77	£105.90	£121.03	£136.16	£166.42	£196.68	£226.93	£272.32
Total West Berkshire Council Precepts		£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
Other major preceptors									
Police and Crime Commisioner for Thames V	/alley	£154.19	£179.88	£205.58	£231.28	£282.68	£334.07	£385.47	£462.56
Royal Berkshire Fire And Rescue Service		£45.97	£53.63	£61.29	£68.95	£84.27	£99.59	£114.92	£137.90
Total for other major preceptors		£200.16	£233.51	£266.87	£300.23	£366.95	£433.66	£500.39	£600.46
Parish/town only (a) Parish/Town, and District and Special Expens Total with all precepts (c)									
Aldermaston	(a) (b)	£19.35 £1,083.62	£22.57 £1,264.22	£25.80 £1,444.83	£29.02 £1,625.43	£35.47 £1,986.64	£41.92 £2,347.85	£48.37 £2,709.05	£58.04 £3,250.86
-	(c)	£1,083.02 £1,283.78	£1,204.22 £1,497.73	£1,711.70	£1,025.45 £1,925.66	£2,353.59	£2,781.51	£3,209.44	£3,250.80 £3,851.32
Aldworth	(a)	£39.85	£46.49	£53.13	£59.77	£73.05	£86.33	£99.62	£119.54
	(b)	£1,104.12	£1,288.14	£1,472.16	£1,656.18	£2,024.22	£2,392.26	£2,760.30	£3,312.36
A - b	(c)	£1,304.28	£1,521.65	£1,739.03	£1,956.41	£2,391.17	£2,825.92	£3,260.69	£3,912.82
Ashampstead	(a) (b)	£23.98 £1,088.25	£27.98 £1,269.63	£31.97 £1,451.00	£35.97 £1,632.38	£43.96 £1,995.13	£51.96 £2,357.89	£59.95 £2,720.63	£71.94 £3,264.76
ļ-	(c)	£1,000.23	£1,503.14	£1,717.87	£1,932.61	£2,362.08	£2,791.55	£3,221.02	£3,865.22
Basildon	(a)	£14.76	£17.22	£19.68	£22.14	£27.06	£31.98	£36.90	£44.28
	(b)	£1,079.03		£1,438.71	£1,618.55	£1,978.23	£2,337.91	£2,697.58	£3,237.10
Beech Hill	(c) (a)	£1,279.19 £0.00	£1,492.38 £0.00	£1,705.58 £0.00	£1,918.78 £0.00	£2,345.18 £0.00	£2,771.57 £0.00	£3,197.97 £0.00	£3,837.56 £0.00
Beechilling	(b)	£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
	(c)	£1,264.43	£1,475.16	£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28
Beedon	(a)	£35.67	£41.62	£47.56	£53.51	£65.40	£77.29	£89.18	£107.02
	(b)	£1,099.94	£1,283.27	£1,466.59	£1,649.92	£2,016.57	£2,383.22	£2,749.86	£3,299.84
Beenham	(c) (a)	£1,300.10 £23.75	£1,516.78 £27.70	£1,733.46 £31.66	£1,950.15 £35.62	£2,383.52 £43.54	£2,816.88 £51.45	£3,250.25 £59.37	£3,900.30 £71.24
Beermann	(b)	£1,088.02	£1,269.35	£1,450.69	£1,632.03	£1,994.71	£2,357.38	£2,720.05	£3,264.06
	(c)	£1,288.18		£1,717.56	£1,932.26	£2,361.66	£2,791.04	£3,220.44	£3,864.52
Boxford	(a)	£22.23	£25.93	£29.64	£33.34	£40.75	£48.16	£55.57	£66.68
	(b)	£1,086.50 £1,286.66	£1,267.58 £1,501.09	£1,448.67 £1,715.54	£1,629.75 £1,929.98	£1,991.92 £2,358.87	£2,354.09 £2,787.75	£2,716.25 £3,216.64	£3,259.50 £3,859.96
Bradfield	(a)	£15.04	£17.55	£20.05	£22.56	£27.57	£32.59	£37.60	£45.12
	(b)	£1,079.31	£1,259.20	£1,439.08	£1,618.97	£1,978.74	£2,338.52	£2,698.28	£3,237.94
	(c)	£1,279.47	£1,492.71	£1,705.95	£1,919.20	£2,345.69	£2,772.18	£3,198.67	£3,838.40
Brightwalton	(a)	£26.93 £1,091.20	£31.42 £1,273.07	£35.91 £1,454.94	£40.40 £1,636.81	£49.38 £2,000.55	£58.36 £2,364.29	£67.33 £2,728.01	£80.80 £3,273.62
-	(b)	£1,091.20 £1,291.36		£1,454.94 £1,721.81	£1,030.01	£2,000.55 £2,367.50	£2,797.95	£3,228.40	£3,273.02 £3,874.08
Brimpton	(a)	£0.00	£0.00	£0.00	£0.00	£0.00	£0.00	£0.00	£0.00
·	(b)	£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
Dualdahum	(c)	£1,264.43		£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28
Bucklebury	(a) (b)	£16.23 £1,080.50		£21.64 £1,440.67	£24.35 £1,620.76	£29.76 £1,980.93	£35.17 £2,341.10	£40.58 £2,701.26	£48.70 £3,241.52
	(c)	£1,280.66		£1,707.54	£1,920.99	£2,347.88	£2,774.76	£3,201.65	£3,841.98
Burghfield	(a)	£74.01	£86.35	£98.68	£111.02	£135.69	£160.36	£185.03	£222.04
ļ-	(b)	£1,138.28		£1,517.71	£1,707.43	£2,086.86	£2,466.29	£2,845.71	£3,414.86
Catmore	(c) (a)	£1,338.44 £0.00	£1,561.51 £0.00	£1,784.58 £0.00	£2,007.66 £0.00	£2,453.81 £0.00	£2,899.95 £0.00	£3,346.10 £0.00	£4,015.32 £0.00
Caullole	(b)	£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
	(c)	£1,264.43	£1,475.16	£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28
Chaddleworth	(a)	£65.43	£76.33	£87.24	£98.14	£119.95	£141.76	£163.57	£196.28
ŀ	(b) (c)	£1,129.70 £1,329.86		£1,506.27 £1,773.14	£1,694.55 £1,994.78	£2,071.12 £2,438.07	£2,447.69 £2,881.35	£2,824.25 £3,324.64	£3,389.10 £3,989.56
Chieveley	(a)	£1,329.80	£1,331.49 £22.05	£1,773.14	£1,994.76 £28.35	£2,436.07 £34.65	£40.95	£3,324.04 £47.25	£5,969.30
55.316,	(b)	£1,083.17	£1,263.70	£1,444.23	£1,624.76	£1,985.82	£2,346.88	£2,707.93	£3,249.52
	(c)	£1,283.33		£1,711.10		£2,352.77	£2,780.54	£3,208.32	£3,849.98
Cold Ash	(a) (b)	£17.89 £1,082.16	£20.87 £1,262.52	£23.85 £1,442.88	£26.83 £1,623.24	£32.79 £1,983.96	£38.75 £2,344.68	£44.72 £2,705.40	£53.66 £3,246.48
ŀ	(c)	£1,082.16 £1,282.32	£1,262.52 £1,496.03	£1,442.88 £1,709.75	£1,623.24 £1,923.47	£1,983.96 £2,350.91	£2,344.68 £2,778.34	£2,705.40 £3,205.79	£3,246.48 £3,846.94
Combe	(a)	£0.00		£0.00	£0.00	£0.00	£0.00	£0.00	£0.00
	(b)	£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
	(c)	£1,264.43		£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28
Compton	(a) (b)	£49.96 £1,114.23	£58.29 £1,299.94	£66.61 £1,485.64	£74.94 £1,671.35	£91.59 £2,042.76	£108.25 £2,414.18	£124.90 £2,785.58	£149.88 £3,342.70
ŀ	(c)	£1,114.23 £1,314.39		£1,752.51	£1,071.58	£2,042.70 £2,409.71	£2,414.16 £2,847.84	£3,285.97	£3,943.16
East Garston	(a)	£21.45	£25.03	£28.60	£32.18	£39.33	£46.48	£53.63	£64.36
	(b)	£1,085.72		£1,447.63		£1,990.50	£2,352.41	£2,714.31	£3,257.18
	(c)	£1,285.88	£1,500.19	£1,714.50	£1,928.82	£2,357.45	£2,786.07	£3,214.70	£3,857.64

		Band A	BandB	Band C	Band D	Band E	Band F	Band G	Band H
Council Tax schedule 2021-22		£	£	£	£	£	£	£	£
West Berkshire Council Precepts West Berkshire Council		£973.50	C4 405 75	04 200 00	04 400 05	04 704 75	CO 400 OF	£2,433.75	CO 000 FO
West Berkshire Council Adult Social Care		£973.50 £90.77	£1,135.75 £105.90	£1,298.00 £121.03	£1,460.25 £136.16	£1,784.75 £166.42	£2,109.25 £196.68	£2,433.75 £226.93	£2,920.50 £272.32
Total West Berkshire Council Precepts		£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
Other major preceptors									
Police and Crime Commisioner for Thames V	/alley	£154.19	£179.88	£205.58	£231.28	£282.68	£334.07	£385.47	£462.56
Royal Berkshire Fire And Rescue Service Total for other major preceptors		£45.97 £200.16	£53.63 £233.51	£61.29 £266.87	£68.95 £300.23	£84.27 £366.95	£99.59 £433.66	£114.92 £ 500.39	£137.90 £600.46
Parish/town only (a)			2200.01	2200.01	2000.20	2000.00	2400.00	2000.00	2000.40
Parish/Town, and District and Special Expens Total with all precepts (c)	ses (b)								
East IIsley	(a)	£51.15	£59.67	£68.20	£76.72	£93.77	£110.82	£127.87	£153.44
	(b)	£1,115.42	£1,301.32	£1,487.23	£1,673.13	£2,044.94	£2,416.75	£2,788.55	£3,346.26
Enborne	(c) (a)	£1,315.58 £31.07	£1,534.83 £36.24	£1,754.10 £41.42	£1,973.36 £46.60	£2,411.89 £56.96	£2,850.41 £67.31	£3,288.94 £77.67	£3,946.72 £93.20
	(b)	£1,095.34	£1,277.89	£1,460.45	£1,643.01	£2,008.13	£2,373.24	£2,738.35	£3,286.02
Englefield	(c) (a)	£1,295.50 £19.87	£1,511.40 £23.18	£1,727.32 £26.49	£1,943.24 £29.80	£2,375.08 £36.42	£2,806.90 £43.04	£3,238.74 £49.67	£3,886.48 £59.60
Litigieneid	(b)	£1,084.14	£1,264.83	£1,445.52	£1,626.21	£1,987.59	£2,348.97	£2,710.35	£3,252.42
Family and the	(c)	£1,284.30		£1,712.39	£1,926.44	£2,354.54	£2,782.63 £0.00	£3,210.74	£3,852.88
Farnborough	(a) (b)	£0.00 £1,064.27	£0.00 £1,241.65	£0.00 £1,419.03	£0.00 £1,596.41	£0.00 £1,951.17	£0.00 £2,305.93	£0.00 £2,660.68	£0.00 £3,192.82
	(c)	£1,264.43	£1,475.16	£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28
Fawley	(a) (b)	£0.00 £1,042.50	£0.00 £1,216.25	£0.00 £1,390.00	£0.00 £1,563.75	£0.00 £1,911.25	£0.00 £2,258.75	£0.00 £2,606.25	£0.00 £3,127.50
<u></u>	(c)	£1,242.66	£1,449.76	£1,656.87	£1,863.98	£2,278.20	£2,692.41	£3,106.64	£3,727.96
Frilsham	(a) (b)	£36.59 £1,100.86	£42.68 £1,284.33	£48.78 £1,467.81	£54.88 £1,651.29	£67.08 £2,018.25	£79.27 £2,385.20	£91.47 £2,752.15	£109.76 £3,302.58
-	(c)	£1,100.66 £1,301.02	£1,204.33 £1,517.84	£1,467.61 £1,734.68	£1,051.29 £1,951.52	£2,016.25 £2,385.20	£2,365.20 £2,818.86	£2,752.15 £3,252.54	£3,903.04
Great Shefford	(a)	£25.51	£29.76	£34.01	£38.26	£46.76	£55.26	£63.77	£76.52
-	(b)	£1,089.78 £1,289.94	£1,271.41 £1,504.92	£1,453.04 £1,719.91	£1,634.67 £1,934.90	£1,997.93 £2,364.88	£2,361.19 £2,794.85	£2,724.45 £3,224.84	£3,269.34 £3,869.80
Greenham	(a)	£26.89	£31.38	£35.86	£40.34	£49.30	£58.27	£67.23	£80.68
-	(b)	£1,091.16 £1,291.32	£1,273.03 £1,506.54	£1,454.89 £1,721.76	£1,636.75 £1,936.98	£2,000.47 £2,367.42	£2,364.20 £2,797.86	£2,727.91 £3,228.30	£3,273.50 £3,873.96
Hampstead Norreys	(a)	£34.98	£40.81	£46.64	£52.47	£64.13	£75.79	£87.45	£104.94
	(b)	£1,099.25	£1,282.46	£1,465.67	£1,648.88	£2,015.30	£2,381.72	£2,748.13	£3,297.76
Hamstead Marshall	(c) (a)	£1,299.41 £19.39	£1,515.97 £22.62	£1,732.54 £25.85	£1,949.11 £29.08	£2,382.25 £35.54	£2,815.38 £42.00	£3,248.52 £48.47	£3,898.22 £58.16
	(b)	£1,083.66	£1,264.27		£1,625.49	£1,986.71	£2,347.93	£2,709.15	£3,250.98
Hermitage	(c) (a)	£1,283.82 £39.05	£1,497.78 £45.56	£1,711.75 £52.07	£1,925.72 £58.58	£2,353.66 £71.60	£2,781.59 £84.62	£3,209.54 £97.63	£3,851.44 £117.16
Tierrinage _	(b)	£1,103.32	£1,287.21	£1,471.10	£1,654.99	£2,022.77	£2,390.55	£2,758.31	£3,309.98
Habibaak	(c)	£1,303.48	£1,520.72	£1,737.97	£1,955.22	£2,389.72	£2,824.21	£3,258.70	£3,910.44
Holybrook	(a) (b)	£32.13 £1,096.40		£42.84 £1,461.87	£48.20 £1,644.61	£58.91 £2,010.08	£69.62 £2,375.55	£80.33 £2,741.01	£96.40 £3,289.22
	(c)	£1,296.56	£1,512.65	£1,728.74	£1,944.84	£2,377.03	£2,809.21	£3,241.40	£3,889.68
Hungerford	(a) (b)	£84.96 £1,149.23	£99.12 £1,340.77	£113.28 £1,532.31	£127.44 £1,723.85	£155.76 £2,106.93	£184.08 £2,490.01	£212.40 £2,873.08	£254.88 £3,447.70
<u></u>	(c)	£1,349.39	£1,574.28	£1,799.18	£2,024.08	£2,473.88	£2,923.67	£3,373.47	£4,048.16
Inkpen	(a)	£21.45 £1,085.72	£25.03 £1,266.68	£28.60 £1,447.63	£32.18 £1,628.59	£39.33 £1,990.50	£46.48 £2,352.41	£53.63	£64.36 £3,257.18
	(c)	£1,085.72 £1,285.88	£1,200.08 £1,500.19	£1,447.63 £1,714.50	£1,628.59 £1,928.82	£1,990.50 £2,357.45	£2,352.41 £2,786.07	£2,714.31 £3,214.70	£3,257.18 £3,857.64
Kintbury	(a)	£34.80	£40.60	£46.40	£52.20	£63.80	£75.40	£87.00	£104.40
-	(b)	£1,105.76 £1,305.92	£1,290.05 £1,523.56	£1,474.35 £1,741.22	£1,658.64 £1,958.87	£2,027.23 £2,394.18	£2,395.82 £2,829.48	£2,764.40 £3,264.79	£3,317.28 £3,917.74
Lambourn	(a)	£54.37	£63.44	£72.50	£81.56	£99.68	£117.81	£135.93	£163.12
-	(b)	£1,118.64 £1,318.80	£1,305.09 £1,538.60	£1,491.53 £1,758.40	£1,677.97 £1,978.20	£2,050.85 £2,417.80	£2,423.74 £2,857.40	£2,796.61 £3,297.00	£3,355.94 £3,956.40
Leckhampstead	(a)	£30.54	£35.63	£40.72	£45.81	£55.99	£66.17	£76.35	£91.62
·	(b)	£1,094.81	£1,277.28	£1,459.75	£1,642.22	£2,007.16	£2,372.10	£2,737.03	£3,284.44
Midgham	(c) (a)	£1,294.97 £37.44	£1,510.79 £43.68	£1,726.62 £49.92	£1,942.45 £56.16	£2,374.11 £68.64	£2,805.76 £81.12	£3,237.42 £93.60	£3,884.90 £112.32
	(b)	£1,101.71	£1,285.33	£1,468.95	£1,652.57	£2,019.81	£2,387.05	£2,754.28	£3,305.14
Newbury	(c) (a)	£1,301.87 £58.55	£1,518.84 £68.30	£1,735.82 £78.06	£1,952.80 £87.82	£2,386.76 £107.34	£2,820.71 £126.85	£3,254.67 £146.37	£3,905.60 £175.64
Newbury	(a) (b)	£1,122.82	£1,309.95	£1,497.09	£1,684.23	£107.34 £2,058.51	£120.03 £2,432.78	£146.37 £2,807.05	£3,368.46
	(c)	£1,322.98	£1,543.46	£1,763.96	£1,984.46	£2,425.46	£2,866.44	£3,307.44	£3,968.92
Padworth	(a) (b)	£27.95 £1,092.22	£32.61 £1,274.26	£37.27 £1,456.30	£41.93 £1,638.34	£51.25 £2,002.42	£60.57 £2,366.50	£69.88 £2,730.56	£83.86 £3,276.68
	(c)	£1,292.38	£1,507.77	£1,723.17	£1,938.57	£2,369.37	£2,800.16	£3,230.95	£3,877.14
Pangbourne	(a) (b)	£52.09 £1,116.36	£60.78 £1,302.43	£69.46 £1,488.49	£78.14 £1,674.55	£95.50 £2,046.67	£112.87 £2,418.80	£130.23 £2,790.91	£156.28 £3,349.10
	(c)	£1,316.52		£1,755.36	£1,974.78	£2,413.62	£2,852.46	£3,291.30	£3,949.56
	(c)	£1,316.52	£1,535.94	£1,755.36	£1,974.78	£2,413.62	£2,852.46	£3,291.30	£3,949.56

		Band A	BandB	Band C	Band D	Band E	Band F	Band G	Band H
Council Tax schedule 2021-22		£	£	£	£	£	£	£	£
West Berkshire Council Precepts		0070 50	04.405.75	04 000 00	04 400 05	04 704 75	00.400.05	00 400 75	00 000 50
West Berkshire Council West Berkshire Council Adult Social Care		£973.50 £90.77	£1,135.75 £105.90	£1,298.00 £121.03	£1,460.25 £136.16	£1,784.75 £166.42	£2,109.25 £196.68	£2,433.75 £226.93	£2,920.50 £272.32
Total West Berkshire Council Precepts		£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
Other median process to ma									
Other major preceptors Police and Crime Commissioner for Thames \	/allev	£154.19	£179.88	£205.58	£231.28	£282.68	£334.07	£385.47	£462.56
Royal Berkshire Fire And Rescue Service		£45.97	£53.63	£61.29	£68.95	£84.27	£99.59	£114.92	£137.90
Total for other major preceptors		£200.16	£233.51	£266.87	£300.23	£366.95	£433.66	£500.39	£600.46
Parish/town only (a) Parish/Town, and District and Special Expensional with all precepts (c)	ses (b))							
Peasemore	(a)	£24.35	£28.40	£32.46	£36.52	£44.64	£52.75	£60.87	£73.04
-	(b)	£1,088.62 £1,288.78	£1,270.05 £1,503.56	£1,451.49 £1,718.36	£1,632.93 £1,933.16	£1,995.81 £2,362.76	£2,358.68 £2,792.34	£2,721.55 £3,221.94	£3,265.86 £3,866.32
Purley on Thames	(c) (a)	£1,266.76	£1,303.30 £60.92	£69.62	£1,933.10	£2,302.70	£113.13	£3,221.94	£156.64
,	(b)	£1,116.48	£1,302.57	£1,488.65	£1,674.73	£2,046.89	£2,419.06	£2,791.21	£3,349.46
Show Cum Donnington	(c)	£1,316.64 £39.17	£1,536.08 £45.69	£1,755.52	£1,974.96 £58.75	£2,413.84 £71.81	£2,852.72	£3,291.60 £97.92	£3,949.92 £117.50
Shaw-Cum-Donnington	(a) (b)	£1,101.15		£52.22 £1,468.19	£1,651.72	£2,018.78	£84.86 £2,385.82	£97.92 £2,752.87	£3,303.44
	(c)	£1,301.31	£1,518.17	£1,735.06	£1,951.95	£2,385.73	£2,819.48	£3,253.26	£3,903.90
Speen	(a)	£36.35 £1,100.62	£42.40 £1,284.05	£48.46 £1,467.49	£54.52 £1,650.93	£66.64 £2,017.81	£78.75 £2,384.68	£90.87 £2,751.55	£109.04 £3,301.86
	(b)	£1,100.62 £1,300.78		£1,467.49 £1,734.36	£1,050.93 £1,951.16	£2,017.61 £2,384.76	£2,304.00 £2,818.34	£3,251.94	£3,902.32
Stanford Dingley	(a)	£27.43	£32.01	£36.58	£41.15	£50.29	£59.44	£68.58	£82.30
-	(b)	£1,091.70 £1,291.86	£1,273.66 £1,507.17	£1,455.61 £1,722.48	£1,637.56 £1,937.79	£2,001.46 £2,368.41	£2,365.37 £2,799.03	£2,729.26 £3,229.65	£3,275.12 £3,875.58
Stratfield Mortimer	(c) (a)	£1,291.00 £59.47	£1,507.17	£1,722.46 £79.30	£1,937.79 £89.21	£2,300.41 £109.03	£2,799.03 £128.86	£3,229.65 £148.68	£3,673.36 £178.42
	(b)	£1,123.74	£1,311.04	£1,498.33	£1,685.62	£2,060.20	£2,434.79	£2,809.36	£3,098.92
Chroadian	(c)	£1,323.90	£1,544.55	£1,765.20	£1,985.85	£2,427.15	£2,868.45	£3,309.75	£3,971.70
Streatley	(a) (b)	£37.37 £1,101.64	£43.59 £1,285.24	£49.82 £1,468.85	£56.05 £1,652.46	£68.51 £2,019.68	£80.96 £2,386.89	£93.42 £2,754.10	£112.10 £3,304.92
	(c)	£1,301.80	£1,518.75	£1,735.72	£1,952.69	£2,386.63	£2,820.55	£3,254.49	£3,905.38
Sulhamstead	(a)	£19.63	£22.90	£26.17	£29.44	£35.98	£42.52	£49.07	£58.88
	(b)	£1,083.90 £1,284.06	£1,264.55 £1,498.06	£1,445.20 £1,712.07	£1,625.85 £1,926.08	£1,987.15 £2,354.10	£2,348.45 £2,782.11	£2,709.75 £3,210.14	£3,251.70 £3,852.16
Thatcham	(a)	£55.92	£65.24	£74.56	£83.88	£102.52	£121.16	£139.80	£167.76
	(b)	£1,120.19	,	£1,493.59	£1,680.29	£2,053.69	£2,427.09	£2,800.48	£3,360.58
Theale	(c) (a)	£1,320.35 £78.62	£1,540.40 £91.72	£1,760.46 £104.83	£1,980.52 £117.93	£2,420.64 £144.14	£2,860.75 £170.34	£3,300.87 £196.55	£3,961.04 £235.86
Thouse	(b)		£1,332.77		£1,713.57	£2,094.37	£2,475.16	£2,855.95	£3,427.14
	(c)		£1,566.28		£2,013.80	£2,461.32	£2,908.82	£3,356.34	£4,027.60
Tidmarsh with Sulham	(a) (b)	£19.13 £1,083.40		£25.50 £1,444.53	£28.69 £1,625.10	£35.07 £1,986.24	£41.44 £2,347.37	£47.82 £2,708.50	£57.38 £3,250.20
	(c)	£1,283.56		£1,711.40	£1,925.33	£2,353.19	£2,781.03	£3,208.89	£3,850.66
Tilehurst	(a)	£34.13		£45.51	£51.20	£62.58	£73.96	£85.33	£102.40
	(b)	£1,098.40 £1,298.56	£1,281.47 £1,514.98	£1,464.54 £1,731.41	£1,647.61 £1,947.84	£2,013.75 £2,380.70	£2,379.89 £2,813.55	£2,746.01 £3,246.40	£3,295.22 £3,895.68
Ufton Nervet	(a)	£15.34		£20.45	£23.01	£28.12	£33.24	£38.35	£46.02
	(b)	£1,079.61	£1,259.55	£1,439.48	£1,619.42	£1,979.29	£2,339.17	£2,699.03	£3,238.84
Wasing	(c) (a)	£1,279.77 £0.00	£1,493.06 £0.00	£1,706.35 £0.00	£1,919.65 £0.00	£2,346.24 £0.00	£2,772.83 £0.00	£3,199.42 £0.00	£3,839.30 £0.00
wasiiig_	(b)	£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
	(c)	£1,264.43	£1,475.16	£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28
Welford	(a) (b)	£21.71 £1,085.98	£25.33 £1,266.98	£28.95 £1,447.98	£32.57 £1,628.98	£39.81 £1,990.98	£47.05 £2,352.98	£54.28 £2,714.96	£65.14 £3,257.96
	(c)	£1,286.14	£1,500.49	£1,714.85	£1,929.21	£2,357.93	£2,786.64	£3,215.35	£3,858.42
West IIsley	(a)	£46.19		£61.58	£69.28	£84.68	£100.07	£115.47	£138.56
	(b)	£1,110.46 £1,310.62	£1,295.53 £1,529.04	£1,480.61 £1,747.48	£1,665.69 £1,965.92	£2,035.85 £2,402.80	£2,406.00 £2,839.66	£2,776.15 £3,276.54	£3,331.38 £3,931.84
West Woodhay	(c) (a)	£1,310.02		£0.00	£1,903.92	£0.00	£2,639.00	£0.00	£0.00
ssssanay	(b)	£1,064.27	£1,241.65	£1,419.03	£1,596.41	£1,951.17	£2,305.93	£2,660.68	£3,192.82
We	(c)	£1,264.43		£1,685.90	£1,896.64	£2,318.12	£2,739.59	£3,161.07	£3,793.28
Winterbourne	(a) (b)	£31.99 £1,096.26		£42.65 £1,461.68	£47.98 £1,644.39	£58.64 £2,009.81	£69.30 £2,375.23	£79.97 £2,740.65	£95.96 £3,288.78
	(c)	£1,296.42	£1,512.48	£1,728.55	£1,944.62	£2,376.76	£2,808.89	£3,241.04	£3,889.24
Wokefield	(a)	£9.33	£10.89	£12.44	£14.00	£17.11	£20.22	£23.33	£28.00
-	(b) (c)	£1,073.60 £1,273.76		£1,431.47 £1,698.34	£1,610.41 £1,910.64	£1,968.28 £2,335.23	£2,326.15 £2,759.81	£2,684.01 £3,184.40	£3,220.82 £3,821.28
Woolhampton	(c) (a)	£1,273.70 £38.71	£1,460.03	£1,096.34 £51.62	£1,910.04 £58.07	£2,333.23 £70.97	£83.88	£3,164.40 £96.78	£3,621.26 £116.14
	(b)	£1,102.98	£1,286.82	£1,470.65	£1,654.48	£2,022.14	£2,389.81	£2,757.46	£3,308.96
Yattendon	(c)	£1,303.14		£1,737.52	£1,954.71	£2,389.09	£2,823.47 £76.27	£3,257.85	£3,909.42
railendon	(a) (b)	£35.20 £1,099.47	£41.07 £1,282.72	£46.93 £1,465.96	£52.80 £1,649.21	£64.53 £2,015.70	£76.27 £2,382.20	£88.00 £2,748.68	£105.60 £3,298.42
	(c)	£1,299.63		£1,732.83	£1,949.44	£2,382.65	£2,815.86	£3,249.07	£3,898.88
					·				

			Town ⁹ Davich	Council Draces	10				<u> </u>
			Town & Parish 2020-21	Council Precep	is		2021-22		
Parish	Taxbase 2020		Precept 2020	Band D 2020	Taxbase 2021		Precept 2021	Band D 2021	Council Tax increase/
									decrease (-)
Aldermaston	467.34	£	13,500.00	£28.89	465.12	£	13,500.00	£29.02	£0.13
Aldworth	133.74	£	7,500.00	£56.08	133.85	£	8,000.00	£59.77	£3.69
Ashampstead	185.77	£	6,640.00	£35.74	188.36	£	6,775.00	£35.97	£0.23
Basildon	957.44	£	21,000.00	£21.93	948.64	£	21,000.00	£22.14	£0.21
Beech Hill	152.64	£	11,500.00	£75.34	150.45	£	-	£0.00	-£75.34
Beedon	192.83	£	10,174.00	£52.76	190.13	£	10,174.00	£53.51	£0.75
Beenham	512.25	_	18,300.00	£35.72	513.81	£	18,300.00	£35.62	-£0.10
Boxford	259.31	£	8,521.00	£32.86	259.43	-	8,650.00	£33.34	£0.48
Bradfield	848.60	£	19,000.00	£22.39	842.10	£	19,000.00	£22.56	£0.17
Brightwalton	171.92	£	6,895.00	£40.11	175.76	_	7,100.00	£40.40	£0.29
Brimpton	302.00	£	12,000.00	£39.74	301.53	-	-	£0.00	-£39.74
Bucklebury	1,075.57	£	26,000.00	£24.17	1,067.72	£	26,000.00	£24.35	£0.18
Burghfield	2,531.15	_	275,000.00	£108.65	2,535.57	£	281,497.00	£111.02	£2.37
Catmore	14.35	£	-	£0.00	14.60	-	-	£0.00	£0.00
Chaddleworth	199.05	£	16,735.00	£84.07	198.69	£	19,500.00	£98.14	£14.07
Chieveley	1,142.77	£	32,620.00	£28.54	1,150.49	-	32,620.00	£28.35	-£0.19
Cold Ash	1,589.49	£	42,500.00	£26.74	1,583.92	£	42,500.00	£26.83	£0.09
Compton	30.76	£	40.0E0.00	£0.00	26.04 654.52	£	40.050.00	£0.00	£0.00
Compton East Caratan	654.50	£	49,050.00	£74.94		£	49,050.00	£74.94	£0.00
East Garston	274.07	£	9,000.00	£32.84	279.72	£	9,000.00	£32.18	-£0.66
East lisley	259.44	-	14,430.00	£55.62	259.85 375.51	-	19,935.00	£76.72 £46.60	£21.10
Endorine Englefield	372.72 121.70	£	17,995.00	£48.28 £29.99	375.51 122.48	£	17,500.00	£46.60 £29.80	-£1.68 -£0.19
Englefield Farnborough	121.70 48.04	£	3,650.00	£29.99 £0.00	122.48 48.70	_	3,650.00	£29.80 £0.00	£0.00
Famborougn	72.14	£		£0.00	48.70 74.71	£	-	£0.00	£0.00
Frilsham	164.10	£	9,000.00	£54.84	163.98	£	9,000.00	£54.88	£0.00
Great Shefford	418.81	£	16,000.00	£34.64	418.23	_	16,000.00	£34.86	£0.04
Greenham	2,515.04	£	101,457.00	£40.34	2,571.08	£	103,724.00	£40.34	£0.00
Hampstead Norreys	358.58	£	15,100.00	£42.11	358.80	£	18,826.00	£52.47	£10.36
Hamstead Marshall	150.15	£	4,500.00	£29.97	154.75	-	4,500.00	£29.08	-£0.89
Hermitage	881.39	£	50,456.00	£57.25	881.87	£	51,660.00	£58.58	£1.33
Holybrook	2,594.11	£	123,533.00	£47.62	2,582.20	_	124,467.00	£48.20	£0.58
Hungerford	2,395.98	£	293,912.00	£122.67	2,406.63	£	306,689.00	£127.44	£4.77
Inkpen	434.61	£	14,000.00	£32.21	435.12	-	14,000.00	£32.18	-£0.03
Kintbury	1,196.53	£	63,000.00	£52.65	1,206.80	_	63,000.00	£52.20	-£0.45
Lambourn	1,794.95	£	144,139.68	£80.30	1,777.85	£	145,000.00	£81.56	£1.26
Leckhampstead	173.54	£	8.000.00	£46.10	174.63	£	8.000.00	£45.81	-£0.29
Midgham	169.37	£	7,500.00	£44.28	169.15	-	9,500.00	£56.16	£11.88
Newbury	12.894.50	£	1,107,171.00	£85.86	12,926.60	£	1,135,249.00	£87.82	£1.96
Padworth	409.68	_	17,000.00	£41.50	405.48	-	17,000.00	£41.93	£0.43
Pangbourne	1,566.87	£	113,194.00	£72.24	1,593.54	-	124,514.04	£78.14	£5.90
Peasemore	149.30	_	3,500.00	£23.44	150.59	-	5,500.00	£36.52	£13.08
Purley on Thames	2,001.47	_	157,000.00	£78.44	2,004.55	-	157,000.00	£78.32	-£0.12
Shaw-Cum-Donnington	697.62	£	38,000.00	£54.47	697.89	-	41,000.00	£58.75	£4.28
Speen	1,129.75	£	61,055.00	£54.04	1,129.92	-	61,604.00	£54.52	£0.48
Stanford Dingley	119.82	-	5,000.00	£41.73	121.51	-	5,000.00	£41.15	-£0.58
Stratfield Mortimer		_	149,210.00	£88.77	1,674.78	_	149,405.00	£89.21	£0.44
Streatley	568.37	£	30,871.00	£54.31	572.77	£	32,101.00	£56.05	£1.74
Sulham (see Tidmarsh)	0.00	£	8,240.00			£	8,652.00		£0.00
Sulhamstead	626.31	£	19,000.00	£30.34	645.48	£	19,000.00	£29.44	-£0.90
Thatcham	9,116.19	£	742,696.00	£81.47	9,097.43	£	763,120.00	£83.88	£2.41
Theale	1,120.91	£	114,690.00	£102.32	1,113.58	£	131,329.00	£117.93	£15.61
Tidmarsh with Sulham	312.13	£	8,240.00	£26.40	301.59	£	8,652.00	£28.69	£2.29
Tilehurst	5,551.03	£	293,899.00	£52.94	5,558.69	£	284,585.00	£51.20	-£1.74
Ufton Nervet	138.20	£	2,900.00	£20.98	139.05	£	3,200.00	£23.01	£2.03
Wasing	24.32	£	-	£0.00	23.67	£	-	£0.00	£0.00
Welford	238.66	£	8,000.00	£33.52	245.64	£	8,000.00	£32.57	-£0.95
West IIsley	154.60	£	10,700.00	£69.21	154.44	£	10,700.00	£69.28	£0.07
West Woodhay	56.59	£	-	£0.00	56.51	£	-	£0.00	£0.00
Winterbourne	103.33	£	5,000.00	£48.39	104.21	£	5,000.00	£47.98	-£0.41
Wokefield	141.33	£	2,000.00	£14.15	142.88	_	2,000.00	£14.00	-£0.15
Woolhampton	417.05	_	24,000.00	£57.55	447.70	-	26,000.00	£58.07	£0.52
Yattendon	170.17	_	9,000.00	£52.89	172.36	_	9,100.00	£52.80	-£0.09
	65,205.90	£	4,394,733.68	Evnonces	65,343.65	£	4,487,176.04		
			2020-21	Expenses			2021-22		
Parish	Taxbase		Expense	Band D 2020	Taxbase		Expense	Band D	Council Tax
	2020	_	2020		2021		2021	2021	increase
Fawley Hungerford	72.14 2,395.98		1,420.00 9,600.00	£19.68 £4.01	74.71 2,406.63		2,440.00	-£32.66 £0.00	-£52.34 -£4.01
Kintbury	1,196.53		9,140.00	£4.01 £7.64	1,206.80		12,110.00	£10.03	£2.39
Shaw-Ćum-Donnington	697.62	£	6,490.00	£9.30	697.89	-£	2,400.00	-£3.44	-£12.74
Theale	1,120.91		2,930.00	£2.61	1,113.58	£	860.00 6.410.00	-£0.77	-£3.38
Total Parish Items		£	29,580.00 4,424,313.68			£	6,410.00 4,493,586.04		
			.,,5 10.00			~	., ,		